Installation Guide

Adapter Riser Panels
for Aisle Containment System

Models: SRCTMTR600SH, SRCTMTR600TL,
SRCTMTR750SH, SRCTMTR750TL

SRCTMTR750TL
(Fills 6U of space)

Width: 30" (750 mm)
Height: 10.4" (265 mm)

SRCTMTR750SH
(Fills 3U of space)

Width: 30" (750 mm)
Height: 5.2" (133 mm)

SRCTMTR600TL
(Fills 6U of space)

Width: 24" (600 mm)
Height: 10.4" (265 mm)

SRCTMTR600SH
(Fills 3U of space)

Width: 24" (600 mm)
Height: 5.2" (133 mm)

Espanol 5 ¢ Francais 9 * Pycckun 13

Recommended Installation Order:

1. SRCTMTFRM Frame Kit

2. SRCTMTTLBM Beam Kit

3. SRCTMTSDD Sliding Double-Door Kit

4, SRCTMTCVR600, SRCTMTCVR750 Static Roof Panel Kit

5. SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL Adapter Riser Panels

LME’PQTE )

Excellence

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2019 Tripp Lite. All rights reserved.



Important Safety Instructions

* This product should only be installed by someone of good mechanical ability, with basic building experience and a full

understanding of the instructions in this guide.

¢ Always use an assistant or mechanical lifting equipment to safely lift and position equipment.

* This product is intended for indoor use only. Install in a controlled indoor environment. Do not install outdoors or in harsh

environments.

M6 x 16
Screw
(x2)

Riser Panel
(x2)

@ %

M6 M6 x 12
Hex Nut Self-Tapping
(x2) Screw

(x4)

M6
Washer
(x0)



Installation

Before proceeding with installation, make sure the SRCTMTFRM Frame Kit, SRCTMTTLBM
Beam Kit and SRCTMTSDD Sliding Double-Door Kit have been properly assembled.
Refer to the products’ Installation Guides for more information.

a With the included hardware, attach the adapter
riser panel to the underside of the containment
frame’s upper support beams.

M6 x 12
Self-Tapping
Screw (x4)

Inside View

M6 Washer (x2)

M6 x 16
Screw (x2)

M6 Hex Nut—g——
(x2)

Multiple riser
panels can be
fastened together.




Installation

B Use the magnetic filler panel included with the SRCTMTCVR600 or SRCTMTCVR750 Static
Roof Panel Kit (sold separately) to fill the open space between the rack cabinet and the
adapter riser panel.

Refer to the SRCTMTCVR600/SRCTMTCVR750 Installation Guide for more information.

TRIPP-LITE 5

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

19-04-416 93-38DE_RevA

4



Guia de Instalacion

Paneles Elevadores de Adaptador para

Sistema de Contencion para Pasillo

Modelos: SRCTMTR600SH, SRCTMTR600TL,
SRCTMTR750SH, SRCTMTR750TL

SRCTMTR750TL
(Ocupa 6U de espacio)

Ancho: 750 mm [30"]
Altura: 265 mm [10.4"]

SRCTMTR750SH
(Ocupa 3U de espacio)

Ancho: 750 mm [30"]
Altura: 133 mm [5.2"]

SRCTMTR600TL
®| (Ocupa 6U de espacio)

Ancho: 600 mm [24"]
Altura: 265 mm [10.4"]

SRCTMTR600SH
(Ocupa 3U de espacio)

Ancho: 600 mm [24"]
Altura: 133 mm [5.2"]

English 1 ¢ Francais 9 * Pycckun 13

Orden Recomendado de Instalacion:

1. Juego de Bastidor SRCTMTFRM

2. Juego de Viga SRCTMTTLBM

3. Juego de Puerta Deslizante Doble SRCTMTSDD

4. Juego de Panel Estatico de Techo SRCTMTCVR600, SRCTMTCVR750

5. Paneles Elevadores con Adaptador SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH,

TRIPPLITE

Manufactura.

1111 W. 35th Street, Chicago, IL 60609 EE. UU. ¢ tripplite.com/support
Copyright © 2019 Tripp Lite. Todos los derechos reservados.

5



Instrucciones de Seguridad Importantes

e Este producto debe ser instalado Unicamente por una persona con habilidades mecanicas adecuadas, experiencia basica de
construccion y que haya comprendido a cabalidad las instrucciones en esta guia.

* Utilice siempre un ayudante o equipo de elevacién mecanico para levantar y colocar el equipo con seguridad.

* Este producto esta disenado para usarse solo en interiores. Instale en un ambiente interior controlado. No lo instale en
ambientes exteriores o0 exigentes.

Lista de Partes

Panel Elevador
(x2)

W @ \ &

Tornillo Tuerca Tornillo Arandela
M6 x 16 Hexagonal M6 Autorroscante M6
(x2) (x2) M6 x 12 (x4)
(x4)



Instalacion

Antes de continuar con la instalacion, asegurese de que el juego de bastidor SRCTMTFRM,

el juego de viga SRCTMTTLBM y el juego de puerta deslizante doble SRCTMTSDD se han
ensamblado correctamente.

Para mas informacion, refiérase a las Guias de Instalacién del producto.

a Con los accesorios incluidos, acople el panel de
elevacion del adaptador a la parte inferior de
las vigas de soporte superior del bastidor
de contencion.

Arandela
M6 (x4)

Tornillo
Autorroscante
M6 x 12 (x4)

|

| Vista Interna

|
S ]
N
AN
N
N
\\ Arandela M6 (x2)
\\ _a— Tornillo
N Tuerca—& Y[~ M6 x 16 (x2)
Hexagonal
M6 (x2)

Se pueden
atornillar entre si
multiples paneles
de elevacion.




Instalacion

B Utilice el panel de relleno magnético incluido con el juego de panel de techo estatico
SRCTMTCVR600 o SRCTMTCVR750 (se vende por separado) para llenar el espacio abierto
entre el gabinete de rack y el panel elevador del adaptador.

Para mas informacion, refiérase a la Guia de Instalacion SRCTMTCVR600/SRCTMTCVR750.

oF
celencia en
Manufactura

TRIPP-LITE

1111 W. 35th Street, Chicago, IL 60609 EE. UU. * tripplite.com/support

19-04-416 93-38DE_RevA

8



Guide d'installation

Panneaux de base pour adaptateur

pour systeme d'enceinte pour allée

Modeles : SRCTMTR600SH, SRCTMTR600TL,
SRCTMTR750SH, SRCTMTR750TL

SRCTMTR750TL
(occupe un espace de 6U)

Largeur : 750 mm (30 po)
Hauteur : 265 mm (10,4 po)

SRCTMTR750SH
(occupe un espace de 3U)

Largeur : 750 mm (30 po)
Hauteur : 133 mm (5,2 po)

SRCTMTR600TL
(occupe un espace de 6U)

Largeur : 600 mm (24 po)
Hauteur : 265 mm (10, 4 po)

SRCTMTR600SH
(occupe un espace de 3U)

Largeur : 600 mm (24 po)
Hauteur : 133 mm (5,2 po)

English 1 * Espanol 5 * Pycckun 13

Ordre d'installation recommandeé :

1. Ensemble de cadre SRCTMTFRM

2. Ensemble de montant SRCTMTTLBM

3. Ensemble de porte double coulissante SRCTMTSDD

4. Ensemble de panneau de toit statique SRCTMTCVR600, SRCTMTCVR750
5

. Panneaux de base pour adaptateurs SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH,
SRCTMTR750TL

TRIPP LITE &

In dustr\eHe

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Droits d'auteur © 2019 Tripp Lite. Tous droits réservés.

9



Consignes de sécurité importantes

¢ Ce produit ne devrait étre installé que par une personne ayant de bonnes aptitudes en mécanique et une expérience de
base en construction de méme qu'une pleine connaissance des instructions du présent manuel.

* Toujours faire appel a un assistant ou utiliser de I'équipement de levage mécanique pour soulever et mettre en place
['équipement.

¢ Ce produit est prévu pour étre utilisé a l'intérieur uniquement. Installer dans un environnement intérieur controlé. Ne pas
installer a l'extérieur ou dans des environnements difficiles.

Liste des pieces

Panneau de base
(x2)

W @ \ &

Vis M6 x 16 Ecrou hexagonal Vis autotaraudeuse Rondelle
(x2) M6 M6 x 12 M6
(x2) (x4) (x6)

10



Installation

Avant de procéder a l'installation, s'assurer que I'ensemble de cadre SRCTMTFRM,

I'ensemble de montant SRCTMTTLBM et I'ensemble de porte double coulissante SRCTMTSDD
ont été correctement assemblés.

Consulter les guides d'installation des produits pour plus d'informations.

a Avec la quincaillerie incluse, fixer le panneau de base
pour adaptateur en dessous des montants de
support du cadre de lI'enceinte.

Rondelle
M6 (x4)

Vis
autotaraudeuse
M6 x 12
(x4)

Vue intérieure

ondelle M6 (x2)

é_ wo—Vis M6 x 16
- (x2)

Ecrou
hexagonal M6
(x2)

PR

Plusieurs
panneaux de base
peuvent étre fixés
ensemble.

11



Installation

B Utiliser le panneau de remplissage magnétique inclus avec I'ensemble de panneau de toit
statique SRCTMTCVR600 ou SRCTMTCVR750 (vendu séparément) pour combler I'espace
ouvert entre I'armoire en bati et le panneau de base pour adaptateur.

Consulter le guide d'installation pour SRCTMTCVR600/SRCTMTCVR750 pour plus d'informations.

"
Il
Industrielle.

TRIPPLITE @

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

19-04-416 93-38DE_RevA

12



PyKkoBoACTBO N0 YyCTaHOBKe

[lepexoaHble BepTUKaNbHble NaHeNnn

Ana cucrémMbl 3alliUTbl NPOXoA40B

Mopaenu: SRCTMTR600SH, SRCTMTR600TL,
SRCTMTR750SH, SRCTMTR750TL

SRCTMTR750SH
(3aHuUMaeT CToeyHoe NPoCTPaHCTBO pasmepom 3U)

[Wnpuna: 750 mm
Bbicota: 133 Mm

SRCTMTR600SH
(3aHMMaeT cToeuHoe NPOCTPAHCTBO pazmepom 3U)

LinpuHa: 600 Mm
Bbicota: 133 Mm

SRCTMTR750TL
(3aHUMaeT cToeYHOE NPOCTPAHCTBO pa3mepom 6U)

LnpuHa: 750 Mm
Bbicota: 265 Mm

SRCTMTR600TL
(3aHMMaeT cToeYHoe MPOCTPAHCTBO pa3mepom 6U)

LInpuna: 600 Mm
Bbicota: 265 MM

English 1« Espaiiol 5 - Francais 9

PEKOMEHAYEMbIﬁ nopAaaoK yCtTaHOBKU:
1. Kopnyc B komnnekte SRCTMTFRM
banka B komnnexte SRCTMTTLBM

v N

Pa3aBwHas ABycTBOpYaTan aBepua B komnaekte SRCTMTSDD
HenopginkHas BepxHAA nanenb B komnnekte SRCTMTCYR600, SRCTMTCVR750
NepexopHbie BepTukanbHble nanenn SRCTMTR600SH, SRCTMTR600TL, SRCTMTR750SH, SRCTMTR750TL

TRIPP LITE ™

®

ﬂpouyxuw BbiCWerD

EAL

1111 W. 35th Street, Chicago, IL 60609 USA « tripplite.com/support

OxpaHsetca aBTopckum npaom © 2019 Tripp Lite. Mepeneuatka 3anpeLyaetca.

13



BakHble yKa3aHuA No TexHnKe 6e30nacHOCTH

+ YcTaHoBKa ;aHHOTO U3enna JoMKHa npou3BOANTLCA TONbKO CneLnanncTom ¢ J0CTaTOYHOI TeXHUYECKOIA KBaJ'IM¢VIKauVIEl7I 11 6230BbIMY HaBblKami CTpouTeNbCTBa, B
MOJHON Mepe NOHUMaLLM CMbICH MH¢0pMaL|,MVI, 13N10KeHHOI B HACTOALLEM PYKOBOACTBE.

« [Ina 6e3onacHoro noAbema It Haanexallero pa3meLleHna 060pWJ,OBaHI/Iﬂ 0693aTeNbHO oﬁpamaﬁTer 3a NOMOLLbIO 1NN I'IOJ'Ib3)II7ITECb Tpy30noAbeMHbIM 060py‘ﬂ0BaHl/IeM.

- [laHHoe u3enue npeaHasHa4yeHo AnA NCnoJjib30BaHNA TONbKO B 3aKPbITbIX MOMELLEHUAX. YcTaHaBnuBath B 3aKpbITOM MOMELLEHNI C KOHTPONUPYEMbIMI NapaMeTPamu
Opr)KaK)LLleVI Cpeabl. He YCTaHABJINBATb HA OTKPbITOM BO3JYyXE N B HeﬁﬂarOI’IleﬂTHle yCnoBuAXx.

Komnnekrauus

BeptukanbHaa navenb
(2wr)

W @ \ &

Bumnt LllecTurpanHas raiika (amope3 LWaiba
M6x 16 M6 M6x 12 Mé
2Quwr) (2uwr) (4wr) (6wr)

14



YcTaHOBKa

n lMepen Hauanom ycraHoBKM Heo6xoanMMo y6eauTbcA B npaBunbHocT c6opku kopnyca SRCTMTFRM, 6anku SRCTMTTLBM u
pa3aBuxHON ABYcTBOpYaToii ABepubl SRCTMTSDD, noctaBnaembIX B KOMNneKTe.

bonee I'IO,[I,pOﬁHaﬂ |/|H¢opmauvm npeAcTaBJieHa B PyKOBOACTBAX MO YCTAHOBKE COOTBETCTBYHOLLINX N3enuii.

n CnomoLLblo 0CHACTKK, NOCTaBNAEMO B KOMMNJIEKTe, npukpenute
nepexoAHylo BepTuKasbHYyIo NaHeNb K HIKHei MoBepPXHOCTU
BEePXHNX ONOPHbIX 6anok 3awuTHOro Kopnyca.

Lllain6a
M6 (4 wr.)

Camope3 M6 x 12
(4 wr.)

Bup usHyTpu

==\ |1aii6a M6 (2 urr)
A\ P

BuHT M6 X 16
(2wr.)

IlecturpanHan —@— |
raitka M6 (2 wr.)

Aonycxaeml (0BMeCTHOe
KpeniieHne HeCKONbKNX
BepPTUKa/IbHbIX naHenen.

15



YcTaHOBKa

n Iina 3anonHeHna ¢B060AHOr0 NPOCTPaHCTBA MeX Ay KOpnycom WKada 1 nepexoHoil BepTUKaNbHON NaHenblo cneayert
UCNoNb30BaTb MarHUTHYIO 3arnyLLKy, BXOAALLYI0 B KOMIIEKT HenoABmkHoi BepxHein naHenn SRCTMTCVR600 unu
SRCTMTCVR750 (npogaetca oTaenbHo).

bonee nogpobHan nHdopmawua npeacTaBneHa B pyKoBOACTBE NO YCTaHOBKe HenofBIKHON BepxHeii naHenn SRCTMTCVR600/SRCTMTCVR750.

aaaaaaaa

TRIPPLITE ®

1111 W. 35th Street, Chicago, IL 60609 USA « tripplite.com/support

19-04-416 93-38DE_RevA

16



